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MECHANICAL ESTIMATING & COSTING

it wrgda ue) [Aftrman 37.70

Time allowed : Three Hours] [Maximum Marks : 70

FZ: (i) FREar@F s
Note : Answer any FOUR questions.
(i) X% T97 & T YT & FHTR 0F 8§ ¥ FH?
Solve all parts of a question consecutively together.
(iii) ¥ W¥ B 73 95 8 IO g |
Start each question on fresh page.
(iv) &1 ST9I37T § 3= &7 #1 IR 7 3z srqar B wr= & |

Only English version is valid in case of difference in both the languages.

(v) e FiF sriemer 777 g R & 7 37 IIRIFER 97 ST

If any data is not given, assume it suitably.

1. () mra % seva fafee | e shea & wwersd |
Write aims of costing, Explain costing procedure.

(i) T gt § W A @ w15 Y § | AW 30m’ HAB A R | TF FAVR
o & 2 St & e RerER d

A factory has 15 lathes of same make and capacity. Lathes occupy 30 m? area.
During one calendar year, factory expenses are as follows :

(a) e %1 foroan o qrawm

Building rent and depreciation = ¥ 5,000
(b) HTEH ¥¥ & e

Indirect labour and material = ¥ 15,000
(c) wmm

Insurance =¥ 2,000

(1ofd) P.T.O.
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(ii)

3. (M)
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(20f4)
(d) ¥TIRIE TR
Depreciation charges =% 5,000
(e) WifRi @Ua

Power consumption =¥ 2,000

3186

Sy 7 F e oefia gver @t s i, afe oft Sy g9i= 25,000 v & wEt

il

Find out the machine hour rate for lathe machines, if all the lathe machines work

for 25,000 hours.

e qeaie & fordl sTmawres ga) &1 e R |

Give details of steps required for job evaluation.

(7+10'%)

Rm-1 # wefdfa 1009mR % fafawmion & o sawE® F¥aA W@ PR S A6
$ifire | gere} 1 o g T /A d vgd wre ¥ 1.0 wfa feam &

Estimate the volume and cost of the 100 shafts shown in Fig. 1. The density of
material is 8 gm/cm?® and cost of material is ¥ 1.0 per kg.

10 e—20—3| 9 je— 15 —e— 20—

=
‘“OI Al ] B | c | b o

it wra frft ¥ | / All dimensions are in mm.

- 1/Fig.-1
freafaftaa =1 afonfia FifR -
Define the following :
(a) ®T-319 TN
Setup time

(b) T GHY
Operation time
(c) WA gHg
Machining time
(@) fem e o
Tear downtime
(e) WERH HA
Handling time
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o 60T =TE i e i -2 # veRia s famei 7 o w5 % fre s an
F1a EIRAY | wek =t 20 Ht./Rrwe Fe sweer 1.2 fondh, ohfd | it e 3 el T E
Find the time required to turn a 60 mm diameter rod to the dimensions shown in Fig. 2.

Take cutting speed as 20 m/min, feed as 1.2 mm. All cuts are 3 mm deep.

-*
$ 42

4.

«— 115

¢ 54

4

ke

100 ——>

e

w¥ft wra fpft F ¥ | / All dimensions are in mm.

fo=-2/Fig.-2

AT STTE Y THITHT A aTel B TR |

Write factors affecting welding cost.

T T % 15 % 6 % | cm AR & 2 AE gH! w1 A4 I g 90° W AT
FQ ¥ R v wmE w1 e SRR | feR T S T ae
frmmam wfesfeaa it -

Estimate the material cost for welding 2 flat pieces of m.s. 15 x 6 X 1 cm size, at

an angle of 90° by gas welding. Neglect edge preparation cost and assume.

(a)

(b)

(c)

(d)

1 {eft Wrers ) el F ol

02 CARCIUG
Cost of Oz
C,H, ¥ &rma

Cost of C;H;
WO 9ETY T O

Density of filler material

YO UETe S ST

Cost of filler material

For 1 cm thick plates :

Ozﬁ T9d
O;consumption
C,H, H g
C,H;consumption
WU B¢ =™
Filler rod diameter

YT B Y AT TS
Length of filler rod required

ELECRILD
Welding time

([ ||

i

i

it

inon

Z 10/4t.°

7 10/m*
2607412

260/m.>
7 o= /a3

7 gmfcm3
2 12/fmmm
3 12/kg

0.7 1.3 /=ver
0.7 m*/hr.
0.5 ®.° /auer
0.5 m’/hr.
sfereft

5 mm

4.5 4. /=, afeen

4.5 m/m of welding
30 fame /. afeen

30 min/m of welding
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IS W & BRaTel g1t i TR w9 fena ST @ 2

How losses in forging operations are estimated ?

faz-3 o weRfa IER aaFa ¥ 20077 4 ot =@ A T B | U@ BioA [F2
st # | frfrfor stra B o i afe

200 pieces of a component, as shown in Fig. 3 are to be drop forged from a 4 cm
diameter stock bar. Calculate the cost of manufacture, if

(a) WS AT = 1oy
Material cost = ¥ 10 per metre

(b) IR TR = 20.01 fa 3.2 Hifdia R 99 a1t wag SEEd F1
Forging charges = ¥ 0.01 per cm?of surface area to be forged

() Ful e = e @ E 10%
Oncost = 10% of material cost

dFmiF A R a i e S am i@ I 2 |

Consider, all possible losses during operations. (7+10'%)

|

¢4

|

I

€

. J’F
5 He— 4 —e 2

it arg @t # ¥ | / All dimensions are in cm.

fR=-3/Fig.-3

fafir= sfte ew et =1 wfaw auiw Hifs |
Describe different sheet metal joints with diagrams.

TF 0.5 x 0.5 x 1 HY., I=amé ATHR &1 TF Wh & Gen uH 6 fndt, Aerd F <2 |
T T & | @ 93 & 99 8 UTW. /A3 & Ut e w1 S v o |

A container open on one side of size 0.5 x 0.5 x 1 m heightis to be made from
plates of 6mm thickness. Take density of plate material as 8 gm/cc and joints are

to be welded.

Prtafaa arfwe | aat 6t e %1 e Hifve

Estimate the cost of containers from the following data :

(a) e H arE = T 4.00 vl fFm
Cost of plate =  T4.00 per kg

(b) e B Y = T H 5%
Sheet metal scrap = 5% of material

ORELES LG qered SITE T 10%
Labour cost 10% of material cost

(d) e gt it v

Cost of welding material

2 5 9fg . Seg *
T 5 per metre weld (7v2+10)
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